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r esolu t i o n .

PRESIDENT: Senator Wesely, please.

SENATOR WESELY: Thank you, Nr. President. I woul d a s k Sen at or
Hanniba l i f he wou l d y i e l d t o s ome ques t i o ns ?

SENATOR HANNIBAL: Su r e .

SENATOR WESELY: Sen at o r Hannibal , ar e you t a l k i ng i n t h e
r esolution abo u t the State Enployees I n sur a n c e Fund , and
obligated appropriations from that fund going to this need? I
d idn ' t q ui t e hear, what is that fund? How much money i s xn
there? And we are talking about $5 million is the estimated
problem, is that not correct?

S ENATOR H A NNIBAL: W e ll , Senator We s e l y , h e r e are estimates
anywhere f r o m 2 . 5 t o 5 or 6 mi l l i on d o l l ar s ba sed on t h e
i nsur anc e c ar r i e r as to what could be the po'sible loss in the
upcoming contract year. Those a r e es t >mat e s . Those a r e
projections and we are tal king about acontract that doesn' t
start until August 1st. So th e r es o l ut i on x s r ecogn i z i n g t h e r e
c oul d b e a pr ob l em. It isn't saying that there. . . i t i . n ' t
l abe l i n g a d ol l ar amo u n t at t h i s p o i r t .

SENATOR WESELY: I see. But what is thzs fund that you r e fe r t o

SENATOR HANNIBAL: The premiums that are paid b y t h e s t a t e
employees and p remiums that are paxd by the.;tate go into what
we cal l a p r em i u m s t a bi l i zat i o n f u nd o r t he employee s f und and
the premiums and the claims and all administrative costs are
pa d from that fund. W ith the current contract and the c ur r e n t
premiums being p aid by the employees and by the state, i t i s
estimated that under the current si tuation, i f i t go es t o
fruition, th at t her e wo u l d be an unobligated b a lance of
1.7 million as of June 30th, 1990, and that is a combination of
state contribution and the employees contribut on.

SENATOR WESELY : Bu t that wouldn't be enough t o co v e r t he
anticipated losses, r i gh t ?

SENATOR HANNIBAL: If the loss is at 2.5 million o r mo r e , t h a t
w ould n o t b e en ou g h , that is correct.

i n t h e r es o l u t i on ?
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